October 03, 2013

Notes 4-2 Definition of a Function
Identifying Functions

A fo\C‘HOV\ is a relationship between X -values and
‘%1 -values. It is a special type of equation where each X -
A%

dlue is paired with exactlyone \J -value. The x-value is
called an iNPLAt= and the y-value is called an O(A’\‘egd‘\f

This means there is exactly one QWY ﬁ.\—for each \1 E"\'\- and we
can also say that each X value is paired with exactly one
Y value.
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oY ()

C4—
E3—
D6—

\l/

[~ .
— Twix

Texting is..... MATH!

T-9 Texting represents a relation. Each button

represents a few letters, or each input value

relates to a couple output values.
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Keyboard Texting represents a function. One
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button represents one letter, or each input

value relates to one output value.
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Are the following relations functions? Why or why not?
domain  vange
Input Output Domain Range

(2 Q\L_s ) 3 3
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Are the following relations functions? Why or why not?

Il;gut 3 5 no ’ /L \f\0\5
Ci Ci ’2 0\/\)‘?‘)\’\—8
U 4 2

Output 4 -4
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|

We can use the \@rdical |line

des A to see if a graph represents a function.

If a vertical line intersects the graph more than
once, then the graph is not a function. If it
intersects the graph only once then the graph is a
function.
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Func+ion Not & Funedion

Ny

Function Notation rO (
°
/ X

Plug in the point (1,-5) to each example:

v
f(x) =y

flx)=means: the value of the function fat x.
y=means: the value of the equation at x.

Equation Function Notation
y=3x - 8 f(x)=3x — 8 6( ;Q(ﬂ)
\ /-6

(x,9) -2 (1)-8
-5 =3(1)-8 6: =y
\S ;\S‘/ "5 5
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Write the following values in function notation ICG\'Q ')

X 2 5 6 7
[LY21%%
f(x) 2 0 3 5

PR)=24151 0 €&)=3 1(7)=H

Given f(-1)=3, f(0)=5, f(1)=7, {(2)=9, write the
relationship as a table of values.
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